wam

2bx

— (&P 5@]a)

\

Lochgruppen:

Gruppe #1
Gruppe #2:
Gruppe #3:
Gruppe #4:
Gruppe #5:

2L Bohrungen




wam

2bx

— (&P 5@]a)

\

Lochgruppen:

Gruppe #1
Gruppe #2:
Gruppe #3:
Gruppe #4:
Gruppe #5:

2 Bohrungen




wam

2bx

— =& [2025@]4]

R4 9%

\

: N
X
D
0
D

Lochgruppen:

Gruppe #1
Gruppe #2:
Gruppe #3:
Gruppe #4:
Gruppe #5:

4 Bohrungen
2 Bohrungen




m\

2bx

— =& [2025@]4]

\

Lochgruppen:

Gruppe #1: 8 Bohrungen
Gruppe #2: 10 Bohrungen
Gruppe #3:
Gruppe #4:
Gruppe #5:




m\

2bx

¢ [p0s@]A]

Lochgruppen:

% Gruppe #1:

\

Gruppe #2:
Gruppe #3:
Gruppe #4:
Gruppe #5:

4 Bohrungen
6 Bohrungen
8 Bohrungen




2bx

— =& [2025@]4]

Lochgruppen:

Ry 0 0

Gruppe #1. 2 Bohrungen

Gruppe #2: 2 Bohrungen

& Gruppe #3: 2 Bohrungen
\“\\0/‘ Gruppe #4: 2 Bohrungen
a\. % Gruppe #5: 2 Bohrungen

\




